Math 7 Notes -
[ (Section 5-4) =1 (?' )
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Words: To multiply a sum or difference (in parentheses) by a
number, multiply the number by each term inside the
parentheses.
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Rirections: Use the distributive property to rewrite each expression
with an equivalent one.
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Directions: Use the distributive property to rewrite each
expression with an equivalent one.

-7(-2x + 4) 4+(x + 8)
-5 (-ax) + =1(4) $x + @
/4% + =28 Lrtd )
/Y X ~2§
(4x + 1)(-6) ~I(6x + 10)

WALTS AN

~6(4x) -6l)
~24x + "6

-L (exy t ~$ (oY
—3IX + -5




**If it is a subtraction problem inside the parentheses ALWAYS start
by rewriting the related addition problem for the subtraction problem
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Admission to a baseball game is $12, and a hot dog costs $5.
Find the total cost of 4 tickets and 4 hot dogs in two

equivalent ways that show the distributive property.
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Directions: Use the distributive property to rewrite each
expression with an equivalent one.
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Find the areq of this triangle.
Write two equivalent expressions.
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Find the area of this rectangle.
Write two equivalent expressions.
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